BSc School C Level 2b Module 7
Physiological Monitoring

Notes for Cardiovascular M easurements

K.H. Parker
Department of Bioengineering

L ecture 3: Physical Measurementsin theLarge Arteries. mpedance M ethods

"...for | dreamt last night of bloody turbulence.”
Troilus and Cressida - William Shakespeare

We will concentrate primarily on the interpretation of measurements of pressure and flow (or
velocity) in the large arteries rather than the measurements themselves. Since about 50% of the
population of the UK will die of arterial disease, agreat deal of attention has been paid to the
arteries. By comparison, relatively little is known about flow in veins

Pressure and flow in the large arteries exhibit complex, pul satile waveforms
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The figure shows the ECG (for reference), the pressure (P) in mmHg and the velocity (U) in cm/s
in the ascending aorta. These data were measured invasively using a catheter.

One of the prominent features of arterial flow is that the pressure and velocity produced by the
contraction of the left ventricle (LV) produce a wave which propagates throughout the arterial
system, the pulse wave. These waves were first analysed scientifically by Thomas Young in his
Croonian Lecture to the Royal Society in 1808.

Note that the flow is very pulsatile, increasing rapidly, reaching a peak, decelerating until the
reversal of flow through the aortic valve closes the valves at the end of systole. Thereisno
velocity during most of diastole. Thisis not true of flow in the carotid artery (and the uterine
artery in pregnancy) where the flow is still pulsatile but there is substantial forward flow during
the whole of diastole. Why do you think thisis?

The 'stroke' volume gjected by the LV (approximately 50 ml) is slightly less than the volume of
the ascending aorta. Therefore, the blood reaching the microcirculation is severa heart beats
‘away' fromthe LV.

Note that the pattern of flow in the coronary arteriesis very different. Because the contraction of
the myocar dium occludes the vessels within it, flow during systole is either zero or greatly
reduced. When the myocardium relaxes, blood can once again flow through the coronary
microcirculation and so flow in the coronary arteriesis highest during diastole. It has been
argued that the need to perfuse the heart during diastole is the reason that the mean blood
pressure in the systemic circulation is high. It hasto drive flow through the coronary circulation
during diastole.

| mpedance Analysis

The standard way of analysing pressure and flow in the arteriesis a Fourier transform based
method generally known as impedance analysis in reference to the analogous analysis of
electrical circuits.

Refer to:
Nichols and O'Rourke, MacDonald's Blood Flow in the Arteries (4th ed.).
Milnor, Hemodynamics.

In this method, the pressure, P(t), and velocity, U(t) (or, aternatively, the volume flow rate), are
expressed as the linear superposition of sinusoidal waveforms using the Fourier transform

P(w) = H{P(1)}
U(w) = HU(0)}



130, 1 T =T

120} iR o "\[ 7
9G] : .-"r : )
Surprisingly few harmonics are ikl T / K ) ]
necessary to build up avery 1 . s T i
good approximation to the 00, - 1 = ! -
experiementally measured
waveforms, Thisisshownhere ™[ . |
where the origina waveform (in :?E R T
blue) is compared to the first - | - Fo e
harmonic wave (in red), the sum sk N 2 .'! T
of thefirst and second o : e
harmonics, the sum of the first ° o8 1 " : 28
four harmonics, eight harmonics ™ L. '
and finally sixteen harmonics. ™"/ 1 e
We seethat sixteen harmonics ' | R TN
are sufficient toreproducemost =1 | e 6
of the detail of the measured i | g e
Waveform_ 1} 0.5 1 15 2 25
130, - i i =
Because the Fourier transformis ool /7 e e~ B
complete, summing all of the T S E | A . N
harmonics will give the initial 100 f e f
waveform exactly, noiseand al. w0/ e ke
80 : : :
o] 0.5 1 1.5 2 25
130 7 T T e
By analogy to Ohms law, 120 _..-f" 1 et s f y
relating voltage and current in 1O f e e / B
electrical circuits, itisassumed ™| R i s g
that the pressure and velocity for %=/ e B -
each harmonic are related o 05 1 - 5 2 25
s

P(w) = U(w) Z(w)

where Z(w) is called the impedance. Because P(w) and U(w) are complex numbers (they have a
real and imaginary part), Z(w) is also complex. It is usualy represented by the polar form, i.e. its
magnitude |Z| and phase f, where

Z(w) = |Z| €

For the data shown previously, the second beat in the figure showing P and U above,
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the P(w) and U(w), magnitude and phase, are




Fourier ransforms
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The impedance, magnitude and phase, calculated from these dataiis
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An example of impedance analysis: data obtained during aortic occlusion

As an example of impedance analysis, we apply it to data which were recorded during an
experiment on the effect of aortic occlusion of pressure and flow in the ascending aorta. The
control conditions are shown on the left and the data recorded during total occlusion of the upper
thoracic aorta are shown to the right. The measured data are
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The Fourier transforms of P and U are complex. The magnitudes are
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The impedance is calculated at each frequency as Z = P/U. They too are complex numbers. The

magnitudes are
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The very large peak at f = 8.3 Hz isthe result of noise. If you examine the value of the
magnitude of the transform of U at this frequency, you will seethat it is almost equal to zero.
When it isdivided into the transform of P it gives an unnaturally large value. The phases are
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Potential problemswith impedance analysis

To afluid dynamicist, the main problem with impedance analysisisitsimplicit assumptions of
periodicity and linearity. We have already seen that physiological data are seldom stationary and
so the assumption of periodicity is generally unrealistic. The assumption of alinear relationship
between pressure and velocity (or flow rate) is also a stronge assumption. The only examples of
flows with alinear relationship between pressure and velocity are Poiseiulle flow (steady, flow
in along, straight tube) and Darcy flow (flow through low porosity material such as rock or soil,
where the Reynolds number of flow in the poresisvery small).



Transfer functions

Allied to impedance analysis are the transfer function methods. In alinear system, the response
of the system can be represented by atransfer function. Once the transfer function is known, the
response of the system to any input can be determined as the convolution of the input and the
transfer function. The convolution operation is an integral operator that can be difficult to
calculate directly. However, it can be shown that the Fourier transform of a convolution is equal
to the simple product of the the Fourier transforms of the transfer function and the input function.
Thus the response of any linear system whose convolution function is known if very easy to
calculate using the FFT.

Recently this idea has been applied to determine the pressure in the ascending aorta. Researchers
determined the transfer function for the arterial system in alarge number of submects by
measuring the central arterial pressure waveform invasively and the pressure waveform in the
radial artery using the non-invasive aplanation tonometry method. They then calculated the
average transfer function as afunction of sex and age and bundled everything together into a
computer based machine that has been sold widely. The machine purports to give the central
arterial waveform from the measured radial artery pressure waveform.

One worry about this process is the assumption that patientsin the clinic have an ‘average’
transfer function. Almost by definition, people in clinics are not average - if they were, they
wouldn't be in the clinic being examined. The most important worry, however, is the assumption
that the arterial systemislinear. This needs to be tested thoroughly.

Measured arterial pressurewaveforms

We have recently measured the arterial pressure waveform as afunction of distance away from
the heart in the dog under different conditionsl. The measurements were made using a catheter
based pressure transducer which was advanced to the ascending aorta from the femoral artery.
The pressure was measured over several respiratory cycles, the catheter was withdrawn 2 cm and
the pressure waveform was again measured. This was done in steps of 2 cm from the ascending
aortato the femoral artery. The data shown are the ensemble average waveforms at each
measurement site
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The top figure shows the pressure as a function of time and distance from the heart as a 3D plot.
The bottom figure is the contour map of the same data. Notice the peak pressure decreases from
the ascending aortafor a distance of about 20 cm and then begins to increase. The peak pressure
isobserved in the femoral artery where the peak pressure is significantly higher than it is at the
origin of the aorta. Also notice that you can determine the wave speed in the aorta from the slope
of the contours in the contour plot.

Similar measurements were made in adog during infusion of methoxamine, a vasoactive drug
with some inotropic affects.
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Note the enhancement of the decrease in peak pressure with distance and the ensuing increase
with distance in the distal aorta. The enhancement of the peak pressure in the femoralsis even

larger than that observed in the control dog.



